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(1) CH) B (2} (CH:0 (3) (CH, P (4) (CH.LN
Sol. (1)
2. Which of the following reactions is an example of nucleaphilic substibution reaction ?
{1} RY 4+ KOH = ROH + KX (£) 2BY +2Na— R-R+2Na¥
{3) RX+H. = RH+HY {4 RY Mg = RAMEY
Sol. (1)
3.  From the following bond energies -

H-H bond energy ; 431.37 &/ mal '
C=C bond energy : 606.10 kf mol !
C-C bond energy : 336.49 kf mol’
C-H bond energy : 410.50 kJ mol”’ \ 2
Enthalpy for the reaction,
H H H H
C=CsH-HSH-C-C-H
f;' H H .F:F
will be
(1) 15236 kd moi"! (2) 2436 k) mol’ kel ol ! (4) 5530 kf mat!
Sol. (3)
4. Which one of the elements with the following cuter orbi ions may exhibit the largest number of oxidation states ?
(1) 3d%4s (2) 3a"ds' 3) 34y’ 4 3d*as”
Sol. (3)
5.  The lonization constant of ammarium

107 at 208 & . Hydrolysis canstant of ammonium chlaride is

(1} sas=1™ i2) {3} s563xl0" (4 63«07
Sol. (1)
6.  Which of the following cxide is not to react with sodium hydroxide

1 B, ) @0 (3) s, () BeC
Sol. (2)
7. show opfical isomerism ?

[2) [CONHNOLT
L ANH L {#4) [Cem), | (en = ethylenediamine)

Sol.
8. of the following is emploved as a tranguilizer ?

{1} Equanil {2) Maproxen 13} Tetracycline i4) Chlorpheninamine
Sol. (1)

9. ALk reduced by elechrolysis at low potentials and high currents. If 402107 amperes of current is passed through molten A/(2,
for 6 hours, what mass of aluminium is produced ? {Assume 100% cument efficiency, At mass of A/ =27 g mal ')




(1) 90x10’g 2) si=l0'g (31 2dx10° g 4 13=10'g

Sol. (2)
10. Trchloroacetaldehyde, CCLEHG reacts with chlorobenzene in presence of sulphuric ackd and produces ;
i
i
CHLCT #H
(#7]
3 cr— 2= =CY 8y cr— SOH - =CI
“® @5®C)

Sol. (4) V'S
11. Which of the following complex ions is expected to absorb visible light

(1) (St NI (2) [Titemha (N 121" e} [Cr(NHTS)LT () [Zn(NE )]

(At no. Zu=30, S-=121 Ti=32 Cr=24)
Sol. (3)
12. Half life period of & first-crder reaction is 1386 seconds. The specific reaction is

(1) so=10*s" 2 0510 5" (3 « 100 14 30x1072 5"
Sol. (3)
13. Consider the following reaction :

oo U . oy Alkaline KMt

Phenol ———= X Frreir ¥ 157,

The product £ is

(1) Toluene (2) Bena 13} Benzoic acid 4] Benzena
Sal.

14. with & unit cell length of 361 pm. What is the radius of copper atom in pm
(2] {(3) 181 4} 108
Sol.

15.

.Wl:lbﬂvmdﬁml:

tion of A only, the rate of reaction is also doubled and

ations of both A and B, there is a change by a factor of 8 in the rate of the reaction

en by

(2) rate = &[A|]B] (3) rate = k[A] [BF (4) rate = &[4][5]
Sol.
16. theory which of the following lists ranks the nitrogen species in terms of increasing bond order

Ny <N} @) NI <N;<N, (B8) Ny<NF <N; (4) N <NF <N,
Seol. (2)

17.  The state of hybridization of ©;, (7. ; and €, of the hydrocarbon




Sol.
18.

Sol.

19.

Sol.

CH, CH,y
CH, —[I‘—f;H =CH-CH-C=CH

[
CH;
is in the fallowing sequence
(1) sp.sp®, sp” and sp°  (2) sp’, ap7, sp” and sp (3) ap. sp°, sp° and sp’ 14) sp, sp°, sp’ and sp°
(1)
Among the following which is the strongest oxidising agent
(1) K (2) Br 2 1. ) Ch
{1)
Theaq:.ﬂminntmndmmd%mltﬂ.bnﬂnfnumkﬁmubui:mldhﬂ.ﬂmhmm"m&duﬂ i mihios et The
dissociation constant of this acid is
(1) 1.25%10° 2) 3510 (3 62510 ‘t’p 2510
(1)

Structures of some common polymers are given. Which one is not comectly prese

(1) Teflon 4CF, —CF,-), {2) Nea TEC _CH—CH,~CH, -

Cl
8) Terylene 40C ~{O )-COOCH: ~CH-0-),
@)

Oxidation numbers of Pin P2}, of § in S0] and J)5 are respectively
{1} +5, +6and +6 (2) +3, +6 and + [319+5, +3 and +56 (4] -3, +6 and +6

NICH D NHEONCH 1) —C0-]4

(48]

The [UPAC name of the compound H=0=CH=(CH, 8

(1) 3-butene - 1 -yne (2} - ene 30 but-1-yne-3-ene (4} 1-butene -3 - yne
(4)

In the case of alkali metals, decreases in the order

(1) MY =M > MBr = MPQUZ) w' = MO = Mbr = M (2) MF =M= M > MBr (4) M = AMBr = MCOL= MF
i4)

Ghven :

(i) Cu™* 22, 33T

{ii) ™ EY =051

EY for the reaction, ('v" +e¢ —Cn. will be
(2) eV (3) 030V 4 038V

e _ X
For the reaction, N +3H, — 2NH,. 1f£.|_31ﬂ= 2 10- mal £, the velie of .__;.."":’ L st b

(1) 3=107" mat £ &) 2} dx10” mol L & (3) S0 mal L5 ) 1x10* med L' &)

(1)
What is the [£ | in the final solution prepared by mixing 20.0 mL of 0.050 M HCI with 30,0 mL of 0.10 M Ha(0H ),




27.

2

Sol.
29.

Sol.

Sel.
31.

Sol.
32.

8

3

s¢

L

th O I0M [=] gl M (51 OGS M (D12 M
(1)
Out of TiET, COFY  CusCl and NiCt; (Zof Ti =22, €0 =27, Cu=29, Ni=28) the colourless species are

(1) 71F7 and COF;) (2) Cu,Cl, and NICIT (3) TiES and CulCl 4) COFY and NCIS
3
Amongst the elements with following electronic configurations, which one of them may have the highest ionization energy
(1) Ne[3s?3p% (2} Nef3s 3p%) {3) Ar3d™4st4p%) 4 Nel3s“3p')
(1)
Maximum number of electrons in a subshell of an atom s determined by the following
(1) 4i+2 2) 21+ (3) 41-2
(1)
Lithium meetal enystallises in a body centred cubic crystal. B the length of the side of the unit cell of
of the lithium will be
(1) 240.8 pm {2] 151.8 pm {3) 75.5pm
i2)
The segment of DNA which acts as the instrumental manual for the synthesis of t
{1} nuclectide (2} ribose 13} gene 14) nuclecside
(3)
Predict the product
HHCH] + NﬂNDg + HCI'—'F
Phee Jivat
y NHCH, ?H
CH, CH, NO . N,
() @ _N-N=0 (2) @ =% (3) (4)
NO
(1)
Which of the following compounds ud |geametrical} isomerism
{1} 2-Butene i2) {3) Z-Bulyne 4) 2 Butenol
(1)
The values of AH and A 8 lor the ' grapiies + E005, gy = 200, are 170 kef and 170K, respectively. This reaction will be
spontanaous at <
(1) 710K 910K {3) 110K 4 510K
(3)
HCOH .CH O with periodic acid gives
(1) 2¢¢ ) 2HCOOH @ cio W 24>c=0
L HE
{4)
constants for acetic acid and HEN at 25°C are | 521077 and 4.5 107", respectively. The equilibrium constant for
um

EN + CHLCOOH ss=IICN + CH 663
would be
(1) 30=10° 2) 30=10-" (31 3.0xw0" 4 30«0t

(4)




2

s¢

Sal.

a1.

Sel.

42,

Sol.

Sol.

Mitrabenzene can be prepared fram benzene by using a mixture of cone. HNO, and eone. .57, In the mixture, nitrie acid acts as
alan

I‘; reducing agent (2) acid {3) base {4) catalyst

In the reaction

By (ag)+ 5 Br (ag) + 61" = 38, (N+3IH00

The rate of appearance of bromine (#r) s related to mate of disappearance of bromide lons as following

difir) - 3di(Br) d [ Bry) " Sd{Br) d{(Br) - Sd{Br) d{fr.) Hr
M t 5 df 2y ot I i ot o i e 5
(1)

In which of the following moleculesfions BF,, NO;, NH: and /0 , the central atom is sp° hybridj

{1} Neky and NI, (&) N and H.0O (2) NO; and H.O )} i, and NO);

(4)

Which of the following hormones contains iodine ¢

{1} insulin (2) tlestosterone 23] adrenaline 4} thyroxine

(4)

10 g of hydrogen and 64 g of oxygen were filled in a steel vessel and exploded water produced in this reaction will be
(1} 2 mel (2) 3 mal 3 4 14 1 mal

(3

The energy absorbed by each molecule (J1,) of a
kinetic energy of the molecule per atom will be

1 Jand bond energy per molecule s 4.0x107'7 7 . The

(1) 20=10™J 2y 22x107"y 20x107% ) 40100
(1)

The straight chain polymer is formed by

(1) hpdrolysis of (CF ) SACT fo on polymernsation

(2) hydrolysis of O, SiCH, follow ticn polymerisation
(3} hydrvolysis of (CH ), 5 by ymerisation

{4) hydrolysis of (O foll@ved by condensation polymerisation
(4)

state increases in the sequence
(1] (2 Tleln<Ga<dl 13) In<H<Ga=<Al 14 Ga<in<dl<IT
i1}

ing reaction, ethanol — 2 y LKl y "'”*"_**;‘;f‘iﬂ%z;wpmdud%
8L b

(1) CH;=CH, (2) CH,CH,—-0O-CH-CH, {3) CH,—CH,—-0-80.H (4) CHCH0H
(4)




47.

® £

49,

Sol.

50.

& 0L0020 m aqueocus solution of an ionic compound CaiNH )5 (NG, ) O freezes at —1.00732%". Number of moles of jons which 1
mol of ionic compound produces on being dissolved in water will be (&, =—186°C /m)

{1 2 @ 3 3) 4 4 1

(1

What is the dominant intermolecular foree or bond that must be overcome in converting liquid CH 08 to a gas

{1} Hudrogen bonding 2} Dipole-dipole interaction {3} Cowalent bonds 4) London di ce
(1)

Barzene reacts with CH,CY in the presence of anhydrous AICH to form

{1} Toluene {2} Chlorobenzene {3} Benaylchloride 14}

(1)

Which of the following i not permissible armangement of electrons in an atom

(1) m=4 I=0 m=0 s=—4% (2] m=35.1=3 m=0 ¢

B3 m=3 I=2 m=-3 i==-% 4 n=3 =2 m=- -

(3)

Progionic acid with 8 | P vields a dibvomo produet. lts structure would

(1) CH.Br—CHBEr —COOH

{3) CHyBr—CHy —CORr (4 ctty - C-Coxa

fAr
{4)






